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Section: A ( Micro Economics)

1 (b) 3euias fasm (b)Normative Science 1

2 (b) Hﬁﬁr_@aﬁ 3R TdIeR (b)Concave to point of origin 1

3 | (d) SWIad It (d)All of the above 1

4 | (d) RIS ol R A (d)Interest on fixed capital 1

5 | (c) MR=ATR/AQ (c)MR=ATR/AQ 1

6 Marshal 1

7 | U9 3w More than one 1

8 | ofiud 31 = Wid 3 AR=MR 1

9 (a) HYHUT (A) 3R BRI (R) Gl ol %’ 3R | Both Assertion( A) and Reason(R) are true and Reasq 1
RN (R) 3MHBYT (A) GRS R RS ] (R) is the correct explanation

Assertion(A)

10 | (a) AHIYHUT (A) 3R BRI (R) a ol % 3R (Both Assertion(A) and Reason(R) are true and Reas{ 1

RN (R) 3MHBYT (A) B e AR 2 | (R) is not the correct explanation
Assertion(A)

11 | 99R & 994 Tfawd, Ided &t 39 fRUMA &1 | Equal returns to scale reveal the state of | 142
Udhc Pl &, forgs afed $R&bI o1 fAffg | production in which if the factors are increased in a
U | SO ST al SdTe | 3UTd certain proportion then the output will increase in
ff Q'@ ng Fﬁ ﬁ B@ the same proportion.

S{Ydf OR 3
. Production Function: Studies the functional
SdlGT el : ﬂ'ﬁm STTel T Hifdies SlC ' | relationship between material inputs and material
& dI9 PRATED J9Y BT T AT 6| 395 output. In this only material inputs and production
HId Hifde T TUT IATG DI &7 H T | are taken into account. Not their market value.
ST & | 3% ST6IR e ! a1 |

12 | 3dlgH R qg IRl Udh ﬁ UG % Non-price competion is a strategy that implies | 3
T g®T ITd HH I b IO dga AT B | attracting  customers and  increasing sales by
BGK] AR Il Y HIb Eﬂﬁ?ﬁ &7 | providing superior goods quality and excellent
T W??m G % I service rather than low price.

13 | A7 B! PIFd dd pIAd H 8 drd UfdRd | Price elasticity of demand is the ratio of the | 2+2
ufada gy 1T § 89 arel ufa=rd ufkad— o7 | percentage change in price to the percentage
U %| sﬁ Juiidd 1 9@ geh %:_ GEsS| change in demand. The factors affecting it are:-
ea) &Ii)lra B'q‘l-l\ldrll e GﬁTaﬁﬂﬂ R Nature of the product, consumer's income and

’ price level.
S{Ydr OR
AT BT 3 TG BT TG B BT, I AP
A b ﬁfq TG & T 4 1 Td B Bl Demand means the desire to purchase a product,
qddi %I sufficient money to satisfy it, and readiness to
8 UHIFId PR DR 91 Ueh SYUHRE: | spend the money.
a%q Gl Cf)r\lHd, IUHIT BI 3T, AT The factors affecting it are as follows:-
price of goods, consumer income, population

14 4

quf gfcaift SR @1 ®H 39 fawg U= 3UAT | The firm in a  perfectly competitive market
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determines its production at the point where
marginal cost and marginal revenue are equal to each
other, and the marginal cost curve is rising from
bottom to top, because the firm is a price taker here,
hence it accepts the price. Which is determined by
market forces in the industry.

15 2+2
3Mfies T BT Taef-T YT} & Fcak J g | Economic problem is related to the distribution of
et Iafag difta argat gur sifirg | resources which arises due to limited resources and
W&h%wﬁgl unlimited needs.
Gﬂfﬁ?ﬁ Raparea| m w % % Economic problems arise because resources are
g limited compared to needs and these resources have
3R = Wﬁﬂﬁ% g'qggi'[ Bﬁ %Fﬁf % alternative uses.
16 2+2+
B?qmﬂmmaaaagaw%\—yﬁﬁngwu:ﬁ Production possibility curve is a curve which reveals 2
GUIBGE LI I aﬂaﬂ ¥ IJdreAl @i | alternative possibilities of production of two goods
WW@[@WW%I with given resources and techniques.
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OR
T Ih 98 I ¢ ol ol axgell & AT B 145
faft g #1 gpe Hdl %| Uyde gany | Indifference curve is a curve which reveals different
ITHTEdT B Hﬁ@ P GHE WR U Hdl %I combinations of sets of two goods. Each combination
=&} RARYA:- deridl 9% BUHS ald provides the same level of satisfaction to the
N ) R 3 consumer.
fﬂ?ﬁ % % | g8 %fﬂﬂa %&-ﬁ? =r€’f % Its characteristics:- Indifference curve has negative
| 98 ab . SRS Q_Cﬂ ! slope. This curve is upward towards the origin. These
Sl TR dsh Hﬁ@ & Hd TR DI IqaK curves never touch each other. A higher indifference
%l e A Gl x-H&f Bl 3R T y-31& £l @_“ﬁ %l curve indicates higher level of satisfaction. It neither
touches the x-axis nor the y-axis.
17 3+1+
JIded a8 ufebar & fSr9% SRT SMTdl &I | Production is the process by which inputs are | 1+1
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converted into outputs. Production is done by firms.
Production can be defined in terms of short term and
long term and its three stages are shown.

The first stage is of increasing returns when the
marginal product of the variable factor is increasing.
The second stage is of diminishing returns when the
marginal product of the variable factor is decreasing.
The third stage is of negative returns when the
marginal product of the variable factor is negative.

The producer would like to produce only in the
second stage.
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S{Ydr
Supply is the quantity of goods that are offered for | 2+2+
: sale in a market at different prices at a given time. 2
%ﬁgﬁiﬁ%%ﬁﬁﬁm i@ Other things remaining the same, when the supply of
Waﬂﬁlﬁ%l a ‘co‘mmodity increasgs due to incrgase in its price,
T g1 g W%f T 8 fret q & oo this increased supply is called expansion of supply.
DI T b HRU ITD! gfd TS g Sl
g @ 39 91 55 U @1 qid @1 fawIR Pel
ST G|
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If the supply of a commodity increases when its price
¥ DI MG HIHT FHMH @ WR T B | remains the same or the supply remains the same
ayd Pl gﬁfa‘é STt % 37YdT 3T HIHT HH | when its price decreases, then this change is called
Eﬁﬁwqﬁww‘cﬂ%a‘rsﬂqﬁaﬁ?aﬁqﬁ increase in supply.

# i PeT Sar 5| -
R
m-m..n*- § e,
18 | (a) Wf gy (a) of whole economy 1
19 | (b)HRdURPR (b) Govt of india 1
20 | (b) AC/AY (b) AC/AY 1
21 | (b) AR PXWX (d) surcharge on income tax 1
22 | (a) fqufeq (a) opposite 1
23 | g o § BT loans in demand deposit 1
24 |fac=i g Y& Y 3T net factor income from abroad 1
25 | S Revenue 1
26 | (a) AHYHYT (A) 3R BRI (R) 2 gl % 3R (a) Both Assertion(A) and Reason(R) are true and 1
SR (R) DB Y (A) S gel AR g | Reason (R) is the correct explanation

Assertion(A)

27 | (a) HTHBYT (A) 3R BRI (R) T T8I § 3R | (a) Both Assertion(A) and Reason(R) are trueand | 1
SR (R) fNp YT (A) S el A g | Reason (R) is the correct explanation
Assertion(A)
28 | IdC fAfY GRI Tl'iﬁ'q ST pT HFHA T & | The problem of double counting may arise in 1+2

oy T B MUFET B U 4T & Gobal | relation to estimating national income by product

%| aﬁgﬁ TOMAT 9 g fdh ass| F qed 1 me.thoc;. unble countigg means %alcula_t(iin{}gl.the

3% g price of an item more than once. To avoid this
%W%Q%Qﬁﬁﬁﬂ qo_%r\,%@::qilﬁg S ﬁﬂ? problem, it can be avoided by adding the price rise
* | without adding the production of different firms.
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Open market operations mean buying and

selling of securities in the open market by the
Central Bank. By selling securities, the central bank
withdraws the cash funds present in the economy.
These cash balances are high-value currency on the
basis of which commercial banks create credit.
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Aggregate supply equals to aggregate demand.
Market Rule of ‘Say’, was given by prof. “Say”.
According to him, 'Supply itself creates its own
demand'. Therefore, it is mandatory for the
aggregate supply in the economy to be equal to the
aggregate demand.

30

YT QY B Goig fhdt <=1 b A fay & a1y
it anffes A3 F AT & N1 I

| TP o fay & 3 o= o A1y M

-39 AT 81 9 TH-8 & THherawy, 39

3 <=1 4 v gt 8 U1 I 31 <=M B

YT ff A USd 81 YTTaH AW 1 et

Td Y11 T faarur giar 81|

! diF g FafaRad -

1. T AS 2. I A 3. ol 3faR0T

STYdr1

mﬁﬁrmaﬂuﬁrﬁq@aﬁ@rﬁrms‘rwﬂ
| 39 T 1 & fau FufaRea Sum
AU O B 1. &Y H g b 2.
grdfore oag | HH! b

Py

The balance of payments refers to the accounting
record of all economic transactions of a country
with the rest of the world. Every country makes
economic transactions with other countries of the
world. As a result of this transaction, it receives
receipts from other countries and also has to make
payments to other countries. The balance of
payments is the details of these receipts and
payments. Its three items are as follows- 1. Visible
items 2. Invisible items 3. Capital transfer

OR

Excess demand is a situation in which aggregate
demand exceeds the aggregate supply required
for full employment. As a result of excess demand,
a situation of inflation or increase in prices arises
in the economy. To control it, the following
measures are adopted:-

1. By increasing taxes

2. By reducing public expenditure

2+2

1+1+
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Bank rate is the minimum rate of interest at which
the central bank of the country, being the lender of
last resort, is ready to give loans to commercial
banks. Due to increase in bank rate, interest rate
increases and loan becomes expensive. As a result
the demand for credit reduces. On the contrary,

reducing the bank rate reduces the market rate of
interest charged by commercial banks from their
borrowers. That means credit becomes cheap. At
the time of inflation, the central bank adopts




expensive credit policy and in case of deflation, it
adopts cheap credit policy.

32 2+2
WI%:- g8 GHI & TH [igd ﬁ?gf T AT S | Stock:- It is a quantity measured at a certain point
arelt AT %I = ﬁ’lﬁm TP §F T[T 1 of time. Suppose ymi hza(\)/;z6R? 1.000 in_ﬁ)ueraSnéi)o
S 2016 BT 1000 T B THA T 10 TGS | 2ccount onJanuary 1, 2016. It is possible. Rs 50C

e % @3 T 5000 B _6;[ 3 %I = credited to your account on 10 January 2016. It is
2016 X . possible. All these quantities are called stock. The
Tt AT B TP el olld %l q\r’ﬁ AT Hal quantity of capital and money are notable examples
T URAT T & SeeRe-id I&RU &1 of stocks.
Udle:- gg JHg D1 Udh fafRry srafy H AG S | Flow:- Itis a quantity measured over a specific
qTell AT 21 3T YRS 150 % UfdHE W9 @9 | period of time. You can probably spend Rs 150.
U HId % 39 IS 5 % Ulafed Sfead You get pocket money per month, maybe Rs 5.

R . , § 3 Spends every day in the canteen. All these quantities
ad %l RECEIE] {HdTe %I called ‘flow’. Income, expenditure, production and
31T, o4y, \SC‘-”CH%?‘R” TS Wi gaTg & interest are also important examples of flow.

Hsaq_ﬂi RIARRUE

33 AT P IhIg Ydlg o) Eﬁ easﬂu a-edd In the two sector model of circular flow of income, | 2+2+
foga®yT & af &Af 3fufa 1 ‘Eﬁﬂ az 2 the circular flow between two sectors of the 2
IdEH &9 & O Eﬁ%[ T IpIg TdTE &1 economy ie. 1 Domestic sector 2. Productive
(e fpaT ST % | sector is studied.

. f 3 Assumptions:- 1. There are only two sectors in the
B- 1. A . AT A B B economy.
2. WBR BT 1D ﬁ)‘CITG-ﬁ Wﬁ"iﬂ ERICEH! 2. Government has no influence on economic
BT 51 3. SHUHTR TH o \ﬁm g . activities. 3. The economy is a closed economy.
4. I &F (U ART 31T I¥G3M U Yar3{l W | 4. Household sector spends all its income on goods
BERZ[W% &%Wﬁﬁﬁ% and services i.e. does not save.
: s '&mmm T 2Sactor Circular Flow Model
] : Factor Services (Real Flow)
Wwwwa@%maﬁmm
& % JuT 3R BT I AieP UATE P UPHe Here the outer circle is revealing the real flow and
HIE %I the inner circle is revealing the monetary flow.
S{Ydrf OR
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RIS 314 = YAy 31 $ A R $ sifdafd
STH $ TR THE B ~GXARUT YT

RISTY 311 = 9000+800+150+100-50 =
10000 °%.

National Income = Disposable Income +
Corporation Tax + Undistributed Profit + Personal
Direct Taxes - Transfer Payments

National Income = 9000+800+150+100-50 =




Rs 10000.
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Income method is the method which measures
national income by calculating the payments made
to primary factors of production in return for their
productive services in an accounting year. By this
method the following steps are taken to calculate
national income:-

First Step : Identification and classification of
productive enterprises

Second step: Meaning and classification of factor
income
Third Step: Estimate Factor Income

OR

Money can be any thing which can be commonly
used and generally accepted as a medium of
exchange and as a measure and store of value.

Its main functions are as follows:-

The primary functions of money are mainly medium
exchange and standard of value.

The secondary or auxiliary functions of money
mainly include value of deferred payments,
accumulation of value and transfer of value.

3+3

3+3




